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1 (Obtain the closed loop transfer function using block diagram reduction technique CO2| L3

for the fig Q1 shown.

Fig Q1
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Apply the Mason’s Gain formula to the signal flow graph shown in fig Q2 to find
the transfer function xe / X1
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Draw the signal flow graph for the block diagram shown in fig Q3 and determine
the transfer function using Mason’s gain formula.
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transfer function

Solution:
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Draw the signal flow graph for the electrical network shown in fig Q4 and find its
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Obtain the expression for time response of the first order system subjected to unit
step input and unit impulse input.

Solution:
Unit Step Input.
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Unit Impulse:
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Derive the output response of second order system for critically damped system
and input is unit step.
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